6.7 Triple Product

598. Scalar Triple Product

[ivw]=1-(FxW)=v-(Wxi)=w-(ax¥)
599. [uvw]=[wiv]=[vwi]=—[viuw]= -[wvi]=—[awv]
600. kii-(vxw)=k[avw]

601. Scalar Triple Product in Coordinate Form
Xl Yl Zl
i-(Vxw)=[X, Y, Z,,
X3 Y3 Z3

where
ﬁ:(Xl’Yl’Zl)’ V:(Xz’Yz’Zz)’ w:(Xs’Ys’Zs)'

602. Volume of Parallelepiped
V=li-(Vxw)

Figure 84.

603. Volume of Pyramid
V= ;|ﬁ (Fxw)



Figure 85.

604. If u- (\7 X W): 0, then the vectors u, v,and w are linearly
dependent , so w=Au+uv for some scalars A and p.

605. If G-(Vvxw)#0, then the vectors i, v,and w are linearly
independent.

606. Vector Triple Product
ix(Vxw)=(u-wv—(i-v)w



